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100 Questions

Que. 1 Read the passage and answer the questions.
Social media has brought a new idea in networking where people with similar interests or from similar

backgrounds and cultures can connect and share in expertise, knowledge, education, and entertainment, among
other aspects. Through the sharing of articles, blogs, pictures, and videos, a person’s audience helps to increase
their networks and followers, meet friends, and make new acquaintances online; not only locally but also
worldwide. In addition, social media has eliminated many communication barriers enabling people to interact
and freely share information about various topics of interest. 
From an economic perspective, social media helps drive the economy through the ease of advertising where a
large customer base is reached effectively in a short time. Companies find new customers through advertising on
social networks and thereby increase the awareness of their brand including those that celebrate and express
particular cultures. In addition, social media has changed market research since businesses can study their
customers through the details on their profiles as opposed to traditional research. Information is shared online
with little or no spending, which helps improve profits for companies. This does not only occur locally but also
internationally where global economic activity has become possible with social media sites like Facebook aiding
businesses to promote their products and align them to specific customer needs.

However, social media has some negative effects such as cyberbullying and harassment, reduced productivity,
and a threat to privacy. Cyberbullying entails online attacks including insults and threats. Women, girls, and
school children can become victims of online harassment and bullying. In addition, social media affects
productivity as it distracts employees from work. This can lead to a loss of billions due to reduced productivity.
Furthermore, social media can lead to identity theft and stalking when a user fails to protect their privacy. It is
difficult to maintain privacy online and any negative post could have enduring risk on the user.

The positive effects of social media on social and economic issues can be inferred as more than the negative
effects. They include enhanced socialization and economic progress with networking helping to increase the
number of one’s clients and friends while also providing a platform for celebrating and enhancing one’s culture.
Nonetheless, despite these impacts being relevant at the national as well as the global level, social media also has
some negative effects including cyberbullying and online harassment, reduced productivity, and privacy
infringement, among others.

Malcom X once said, “The media’s the most powerful entity on earth…because it controls the masses.” Though
this reference was to mainstream media, this famous quote is applicable to social media, which was non-existent
at a time.

According to the passage, the word 'expertise' means-

Correct Option - 3

inability to do something successfully.1.
lack of skill or ability.2.
expert skill or knowledge in a particular field.3.
the state of not achieving maximum productivity.4.
the ability to understand something.5.

Que. 2 What does the word 'threat' mean?

the possibility or likelihood of some future event occurring.1.



Correct Option - 2

a person or thing likely to cause damage or danger.2.
the state or fact of something's being likely.3.
the condition of being protected from or unlikely to cause danger, risk, or injury.4.
the action of protecting, or the state of being protected.5.

Que. 3 What can be shared through social media?
1. Knowledge

2. Entertainment
3. Education

Correct Option - 4

only 11.
only 22.
only 33.
all of the above4.
none of the above5.

Que. 4 Which social media site helps businesses to promote products?

Correct Option - 2

Instagram1.
Facebook2.
LinkedIn3.
Orkut4.
Snapchat5.

Que. 5 How has social media been able to eliminate communication barriers?

Correct Option - 4

by being provided freely to everyone1.
by producing latest technology2.
by providing mobile phones to everyone3.
by enabling people to interact and freely share information 4.
by aiding businesses5.

Que. 6 What are some of the negative effects of social media?
1. Reduced productivity

2. Cyberbullying
3. Sharing culture



Correct Option - 4

only 11.
only 22.
only 33.
all except 34.
all except 15.

Que. 7 Who can become easy victims of online bullying and harassment?
1. Men

2. Women
3. Elderly people

Correct Option - 2

only 11.
only 22.
only 33.
all except 14.
all except 25.

Que. 8 What are the positive effects of social media?
1. Economic progress

2. Enhanced socialization
3. Enhancement of one’s culture

Correct Option - 4

Only 11.
Only 22.
Only 33.
All of the above4.
None of the above5.

Que. 9 What does the word 'barrier' mean?

Correct Option - 3

an unfavourable circumstance or condition.1.
a condition or circumstance that puts one in a favourable or superior position.2.
a circumstance or obstacle that keeps people or things apart or prevents communication or progress.3.
financial or material help given to a country or area in need.4.
promote or encourage (something).5.

Que. 10 How does social media help from an economic perspective?



1. provides ease of advertising
2. increases the awareness of particular brands
3. it helps drive the economy

Correct Option - 4

only 11.
only 22.
only 33.
all of these4.
none of these5.

Que. 11 Directions: There are four sentences given as options, some of which may contain an error.
Choose the sentence that is grammatically and contextually correct. If all the given sentences are

correct, mark 'All are correct' as your answer.

Correct Option - 2

The student's homeworks are due tomorrow.1.
The dog's tail wagged excitedly upon seeing its owner.2.
The team have won the championship for three consecutive years.3.
A book can takes you on a journey to different worlds.4.
All are correct5.

Que. 12 Directions: There are four sentences given as options, some of which may contain an error.
Choose the sentence that is grammatically and contextually correct. If all the given sentences are

correct, mark 'All are correct' as your answer.

Correct Option - 2

The children's toys is scattered around the room.1.
The cat's fur feels soft to the touch.2.
The company have announced their quarterly earnings.3.
A apple a day keeps the doctors away.4.
All are correct 5.

Que. 13 Directions: There are four sentences given as options, some of which may contain an error.
Choose the sentence that is grammatically and contextually correct. If all the given sentences are

correct, mark 'All are correct' as your answer.

Correct Option - 2

The train arrived late due to heavily rainfall.1.
The cat's purring can be heard across the room.2.
The company have recently hired a new CEO.3.
My brother and I enjoys playing video games together.4.
All are correct5.



Que. 14 Directions: There are four sentences given as options, some of which may contain an error.
Choose the sentence that is grammatically and contextually correct. If all the given sentences are

correct, mark 'All are correct' as your answer.

Correct Option - 1

The book I borrowed from the library is interesting.1.
The child's toys needs to be put away2.
The team have won the championship three times in a row.3.
My parents and I is planning a vacation next month.4.
All are correct5.

Que. 15 Directions: There are four sentences given as options, some of which may contain an error.
Choose the sentence that is grammatically and contextually correct. If all the given sentences are

correct, mark 'All are correct' as your answer.

Correct Option - 2

The students has completed their assignments on time.1.
The company's profits have grown steadily over the past year.2.
The dog's barking could heard from a distance.3.
My friend and I is going to the movies tonight.4.
All are correct5.

Que. 16 In the following sentence, some parts have been printed in bold. One of the bold parts is
incorrectly spelled. Pick up that part and choose its number. If there is no error in the bold parts,

choose option 5- No error as the answer.
Women's suffrage, coeducational studies, and affirmative action policies might change the way "femininity" is
expressed, but these practices could not significantly change the overall status of women.

Correct Option - 5

Suffrage1.
Affirmative2.
Femininity3.
Significantly4.
No error5.

Que. 17 In the following sentence, some parts have been printed in bold. One of the bold parts is
incorrectly spelled. Pick up that part and choose its number. If there is no error in the bold parts,

choose option 5- No error as the answer.
The political office can be held only for a limited period which must be relinsquished upon completion of one's
term or another exigency.

Political1.
Relinsquished2.



Correct Option - 2

Completion3.
Exigency4.
No error5.

Que. 18 In the following sentence, some parts have been printed in bold. One of the bold parts is
incorrectly spelled. Pick up that part and choose its number. If there is no error in the bold parts,

choose option 5- No error as the answer.
Riding on the laguna in Abidjan, Ivory Coast's economic hub, the unusual complex floats on a platform made
from 700,000 discarded bottles and other boyant debris.

Correct Option - 4

Laguna1.
Hub2.
Discarded3.
Boyant4.
No error5.

Que. 19 In the following sentence, some parts have been printed in bold. One of the bold parts is
incorrectly spelled. Pick up that part and choose its number. If there is no error in the bold parts,

choose option 5- No error as the answer.
Ordinary people are not endowed with adequate patience and insight that would enable them to make a correct
assesment of the situation.

Correct Option - 4

Endowed1.
Adequate2.
Insight3.
Assesment4.
No error5.

Que. 20 In the following sentence, some parts have been printed in bold. One of the bold parts is incorrectly
spelled. Pick up that part and choose its number. If there is no error in the bold parts, choose option 5-

No error as the answer.
Marx's adherence to class perspective convinced him that a class-divided society cannot have homogeneous
interests. 

Correct Option - 5

Adherence1.
Perspective2.
Society3.
Homogeneous4.
No errors5.



Que. 21 Fill in the blank with the appropriate word. 
In May 1835  Van Buren was ______ nominated by the Democratic convention at Baltimore.

Correct Option - 5

Differently1.
Divergently2.
Oppositely3.
Inconsistently4.
Unanimously5.

Que. 22 Fill in the blank with the appropriate word. 
Rita begged her husband to quit his unhealthy _______ of smoking cigars.

Correct Option - 3

Decency1.
Virtue2.
Vice3.
Happiness4.
Honor5.

Que. 23 Fill in the blanks.
Raymond wrote imaginary tales for young children containing ___________ characters and events like

the Wayfarer Merlion who divided the sea.

Correct Option - 2

grotesque1.
fantastic2.
corresponding3.
appropriate4.
none of the above5.

Que. 24 Fill in the blanks.
Mr. Loddstone was ___________ on his henchman to aid in the cover up of the murder.

Correct Option - 4

Believing1.
Calculating2.
Accounting3.
Counting4.
None of the above5.



Que. 25 Pick out the most appropriate word from the given words to fill in the blank to make the
sentence meaningfully correct.

In terms of treating acne, neem paste is observed to ______ much of grease and bacteria that can exacerbate the
condition. 

Correct Option - 4

Keep1.
Create2.
Increase3.
Eliminate4.
Allow5.

Que. 26 The following sentences form a paragraph. The sentences are numbered as P, Q, R, S and T.
These five parts are not given in proper order. Read the sentences and choose the alternative that

arranges them in correct order.
P. Flights from European airports are down by 90% from a year ago, for example
Q. But it is to be hoped that the huge reduction in motor traffic caused by the virus will not be completely
reversed
R. It is clear that the ways we travel, and use transport, will not be the same after the coronavirus outbreak as
they were before
S. Already, cities including Milan and New York have announced ambitious plans to reconfigure roads
T. There are no comparable figures that suggest how many car journeys the UK should expect in six months or a
year’s time

Which of the following is the SECOND sentence of the paragraph?

Correct Option - 2

T1.
P2.
R3.
S4.
Q5.

Que. 27 Which of the following is the FIRST sentence of the paragraph?

Correct Option - 1

R1.
S2.
T3.
Q4.
P5.

Que. 28 Which of the following is the FIFTH sentence of the paragraph?



Correct Option - 3

P1.
Q2.
S3.
R4.
T5.

Que. 29 Which of the following is the FOURTH sentence of the paragraph?

Correct Option - 3

P1.
R2.
Q3.
S4.
T5.

Que. 30 Which of the following is the THIRD sentence of the paragraph?

Correct Option - 5

P1.
R2.
Q3.
S4.
T5.

Que. 31 What will come in place of question mark ‘?’ in the following question?
60% of 80 ÷ 16 × 30% of 70 = ?

Correct Option - 4

601.
612.
623.
634.
655.

Que. 32 What will come in the place of the question mark ‘?’ in the following question?
√144 + 12 – 96 + √289 + 144 = ?

311.
892.
623.



Correct Option - 2

444.
None of these5.

Que. 33 What will come in the place of the question mark ‘?’ in the following question?
11 × 66 –  21 × 22 + 91 × 19  = ?

Correct Option - 1

19931.
19942.
19953.
19964.
None of these5.

Que. 34 What value should come in place of question mark(?) in the question?

[(130)2 ÷ 25 × 15] ÷ 30 = ?

Correct Option - 4

 3521.
3142.
3263.
 3384.
4265.

Que. 35  What will come in place of question mark(?) in the following questions?

? = (7/5) of 55 + (3/8) of 1376 − 52

Correct Option - 1

5681.
5062.
5543.
5504.
5715.

Que. 36 What will come in place of the question mark (?) in the following question?

18% of 27 + 2% of 207 = (?)2

41.
62.
53.



Correct Option - 4

34.
25.

Que. 37 What should come in the place of (?) in the following question
√1296 - √576 = √? + 3 × 2

Correct Option - 5

121.
142.
173.
94.
None of these5.

Que. 38 What will come in the place of the question mark ‘?’ in the following question?
(608.40 × ?) ÷ 225 + 37 = 375

Correct Option - 2

1141.
1252.
1573.
1684.
1355.

Que. 39 What will come in place of question mark (?) in the following question?
   

Correct Option - 1

2 + 3 + ? + 2 = 13
1

2

1

4

1

3

5

12

1. 5
1

3

2. 3
1

3

3. 6
1

3

4. 4
1

3

none of these5.

Que. 40 What will come in the place of the question mark ‘?’ in the following question?
7 × 1.5 ÷ 4 – 2.8 × 0.5 = ?

49/401.
49/302.
48/403.



Correct Option - 1

49/504.
49/455.

Que. 41 What will come in place of the question mark ‘?’ in the following question?
2160 ÷ 36 – 5 × 8.2 = ? 

Correct Option - 5

231.
242.
213.
224.
195.

Que. 42 What will come in the place of the question mark ‘?’ in the following question:
50% of ? = 20% of 40 + 60% of 80

Correct Option - 5

1001.
422.
963.
1484.
1125.

Que. 43 What will come in the place of question mark ‘?’ in the following question:
65% of 300 + 30% of 600 – 620 + 360 = ?

Correct Option - 2

1101.
1152.
1203.
1254.
1005.

Que. 44 What will come in place of question mark (?) in the following equation?

140 + 42 – 52 × 6 = ?

121.
22.
163.
64.



Correct Option - 4

225.

Que. 45 What will come in the place of the question mark ‘?’ in the following question.
∛4913 of (35 × ? + 386) = 17

Correct Option - 3

121.
112.
-113.
-124.
35.

Que. 46 Direction: Read the following table carefully and answer the questions that follow:

Types/Brands
customers (in

Hundreds)
Decathlon Puma Nike

Running shoes 40 50 60

Football shoes 50 40 65

Cricket shoes 60 95 90

Hiking shoes 85 60 55

Approximately, what percent is the sales of Decathlon less than the sales of Puma?

Correct Option - 1

4%1.
8%2.
6%3.
3%4.
10%5.

Que. 47 What is the difference between the sales of Cricket shoes and Football shoes of three brands?

Correct Option - 3

931.
812.
903.
744.
865.



Que. 48 Approximately, what percent of total sales of shoes of Nike is the sales of Nike Football shoes?

Correct Option - 5

28%1.
22%2.
29%3.
20%4.
24%5.

Que. 49 Find the ratio between the sales of Running and Hiking shoes over three brands.

Correct Option - 2

1 : 31.
3 : 42.
2 : 33.
4 : 34.
2 : 15.

Que. 50 What is the average sales of three brands?

Correct Option - 5

2601.
2752.
2343.
2404.
2505.

Que. 51 Perimeter of the square is 4/5 of the area of rectangle whose length 11 cm and width is 6 cm less than
the length. What is the length of the square?

Correct Option - 4

12 cm1.
15 cm2.
121 cm3.
11 cm4.
100 cm5.

Que. 52 The ratio between the age of Father and Mother is 8 : 7. After 8 years, the total age of the father and
mother is 91 years. Find the present age of the father.

40 years1.
36 years2.



Correct Option - 1

30 years3.
35 years4.
45 years5.

Que. 53 Two trains start at the same time from A and B towards each other at a speed of 25 m/s and 75 m/s.
when they meet each other it was found that one train is travelled 360 km more than another train, find

the distance between two stations A and B 

Correct Option - 2

8401.
7202.
6803.
7004.
8005.

Que. 54 There are 3 numbers. The average of the first two numbers is 12 more than the average of the last two
numbers. What is the difference between the first and the last number?

Correct Option - 2

181.
242.
263.
164.
25 5.

Que. 55 Amit spends 40% of his salary on food items, 20% of the remaining amount on entertainment and 20%
of the remaining amount for paying various bills. If Amit saves Rs.24,000, what is his total salary?

Correct Option - 4

Rs. 60,5001.
Rs. 72,0002.
Rs. 65,5003.
 Rs. 62,5004.
Rs. 72,5005.

Que. 56 In the following number series, a wrong number is given. Find out the wrong number.
20, 22, 28, 42, 70, 134

201.
702.
223.



Correct Option - 2

1344.
425.

Que. 57 In the following number series, a wrong number is given. Find out the wrong number.
24, 8, 12, 18, 36, 90

Correct Option - 4

181.
362.
123.
84.
245.

Que. 58 In each of the following number series, the wrong number is given, find out that number.
12, 12, 16, 34, 84, 182

Correct Option - 2

121.
842.
343.
164.
1825.

Que. 59 In each of the following number series, a wrong number is given. Find out that number.
24, 47, 45, 91, 90, 179

Correct Option - 5

911.
472.
1793.
904.
455.

Que. 60 In each of the following number series, the wrong number is given, find out that number.
2, 9, 34, 99, 184, 189

91.
342.
993.
1844.



Correct Option - 4

1895.

Que. 61 In downstream a boat cover 32 km in 2 hours and the speed of the boat in still water is 12 km/h. How
much time will the boat take to cover the same distance in the upstream?

Correct Option - 4

61.
32.
23.
44.
None5.

Que. 62 A and B can do a piece of work in 25 days. B and C can do the same work in 20 days while C and A
can do the same work in 10 days. In how many days they together can do the work?

Correct Option - 4

19/200 days1.
13/200 days2.
200/21 days3.
200/19 days4.
200/13 days5.

Que. 63 A shopkeeper sold a laptop for Rs. 22,400 after giving 20% discount on the marked price and made
12% profit on the cost price. What would have been the profit percentage if it was sold at marked

price?

Correct Option - 2

55%1.
40%2.
22%3.
30%4.
50%5.

Que. 64 If the difference between Compound interest and simple interest on a certain sum of money at 5 % per
annum for 2 years is Rs. 25.50. Find the sum of money.

Rs. 12,0001.
Rs. 10,2002.
Rs. 13,0003.
Rs. 10,0004.
Rs. 15,0005.



Correct Option - 2

Que. 65 A and B are partners in a business firm. A puts in Rs. 22000 and B put in Rs. 20000. A receives 30% of the
profit for managing the business and remaining balance is divided in the ratio of their capitals. If the total

profit is Rs. 60000, find total share of A.

Correct Option - 1

Rs. 400001.
Rs. 360002.
Rs. 200003.
​Rs. 320004.
​Rs. 380005.

Que. 66 Directions: Read the following information carefully and answer the questions that follow:
Eight persons Palak, Qadir, Ravi, Saroj, Wasim, Xen, Yoyo and Zen were born in different years 1988,

1989, 1991, 1992, 1993, 1994, 1997 and 1999 but not necessarily in the same order. The present ages can be
calculated based on the year 2020.
Yoyo was born in a leap year.  The age of Zen is more than 30. There is a gap of two years in Yoyo and Qadir.
The number of persons born in between Palak and Wasim was two more than Ravi and Wasim. The difference
between the age of Ravi and Wasim is 6 years. Zen is born in odd number of years but not in 1997. Saroj was
born before Xen. Saroj was not born in 1993.

What is the present age of Qadir?

Correct Option - 3

24 years1.
25 years2.
26 years3.
27 years4.
28 years5.

Que. 67 How many persons born between Palak and Wasim?

Correct Option - 4

Three1.
Two2.
More than four3.
Four4.
None of these5.

Que. 68 Which statement is not correct for Yoyo?

Yoyo is born between Palak and Ravi1.
Yoyo was born in the year 19922.



Correct Option - 3

Yoyo's present age is 25 years.3.
Only (1) and (2) 4.
Only (2) and (3)5.

Que. 69 Saroj is related to Palak, in the same way Qadir is related to Wasim. Who is related to Ravi?

Correct Option - 5

Qadir1.
Saroj2.
Wasim3.
Yoyo4.
Xen5.

Que. 70 Who was born in the year 1989?

Correct Option - 2

Xen1.
Zen2.
Ravi3.
Saroj4.
Palak5.

Que. 71 If it is possible to make a meaningful word with the 2nd, 5th, 7th and 8th letters of the word
FREQUENT, which of the following will be the third letter of that word, if more than one such word

can be formed, give 'X' as the answer and if no such word can be formed, give 'Y' as the answer?

Correct Option - 5

O1.
E2.
X3.
Y4.
R5.

Que. 72 Directions: Study the information carefully and answer the questions given below.
There are seven persons who are working in the same company on different designations and the

person who is working on that designation is named A, B, C, D, E, F, and G but not necessarily in the same order.
They have different designations starting from the Clerk, Officer, Assistant Manager, Manager, Assistant General
Manager, General manager, Director. Director is the topmost post of the company and the clerk is the lowermost
post of the company. Three positions between A and B. A is senior to B and working on the post of director. only
one person holds the position between C and F. C is a manager. The number of positions between D and A is the
same as the number of positions between C and B. Two persons hold positions between E and F.



On which position does D works?

Correct Option - 1

General manager1.
Assistant General manager2.
Assistant manager3.
officer4.
clerk5.

Que. 73 On which position does E works? 

Correct Option - 2

General manager1.
Assistant General manager2.
Assistant manager3.
officer4.
None of these5.

Que. 74 Which of the following person works as assistant manager?

Correct Option - 4

A1.
D2.
E3.
B4.
F5.

Que. 75 Which of the following person work on clerk position? 

Correct Option - 5

E1.
F2.
B3.
C4.
None of these5.

Que. 76 Four of the following five are alike in a certain way and hence form a group, which of the following
does not belong to the group?

AC1.
DB2.
EF3.



Correct Option - 5

CG4.
BG5.

Que. 77 Direction: In the following question assuming the given statements to be true, find which of the
conclusion(s) among given conclusions is/are definitely true and then give your answers accordingly.

Statements: 
W = Z ≤ Q < O,  F ≤ Z < T
Conclusions:
I. W < T
II. O > F

Correct Option - 3

Only conclusion I follows1.
Only conclusion II follows2.
Both conclusions I and II follow3.
Either conclusion I or II follows4.
None follows5.

Que. 78 Direction: In the following question assuming the given statement to be True, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statement: J ≤ K < T = A ≥ W = C
Conclusion: 
I) W = T
II) T > W

Correct Option - 3

Only II is true1.
Both I and II are true2.
Either I and II is true3.
Only I is true4.
Neither I nor II follows5.

Que. 79 Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements: A < B ≥ C > D ; C < F ; E ≤ D
Conclusions:
I. A < F
II. E < F

Only I is True1.
Only II is True2.



Correct Option - 2

Either I or II is True3.
Neither I nor II is True4.
Both I and II is True5.

Que. 80 Direction: In the following question assuming the given statements to be true, find which of the
conclusion among given some conclusion is/are definitely true and then give your answers

accordingly:
Statement: L ≥ P > B; M = B < R; U ≥ J > L
Conclusion: 
I. U > P 
II. L > M

Correct Option - 3

Only I Follows1.
Only II Follows2.
Both I and II Follows3.
Either I or II Follows4.
Neither I nor II Follows5.

Que. 81 Directions: Study the following information and answer the given questions.
An uncertain number of the person is sitting in a straight line facing north. Three-person sit between

Ram and Rahul. Abhi sits second to the right of Ram. Only three people sit between Rahul and Arun. Ravi is
sitting to the immediate left of Ram. Abhi sits fifth from the extreme right end of the row. Anjali sits on the
extreme left end of the row. The same number of people sits between Abhi and Abhishek as between Abhishek
and Arun. Sanu sits second to the left of Aditya, who is an immediate neighbour of Rahul. Not more than two
people sit between Aditya and Arun. Five people are sitting between Arun and Anjali. The same number of
people sit between Arun and Shruti as between Shruti and Anjali.

Who is sitting immediate right of Aditya?

Correct Option - 3

Arun1.
Ram2.
Rahul3.
Abhi4.
Shruti5.

Que. 82 Who is sitting extreme left end of the row?

Sanu1.
Shruti2.
Anjali3.
Ram4.



Correct Option - 3

Rahul5.

Que. 83 Directions: Study the information given below carefully and answer the question that follows. 
A certain number of students are sitting on the floor and facing the north direction. Two-person sits

between Amit and Bhargav. Neither Krishan nor Rajat sits at any of the extreme ends. Priya sits in the middle of
the Row. Mahesh sits adjacent to the Krishan. Priya sits exactly between Rahul and Bhargav. Rajat sits adjacent
to Bhargav. Amit is third from the left end. More than Four students sit between Rajat and Ramesh. Mahesh sits
at one of the extreme end of the row. Rajat sits right to the Ramesh. Rahul is sitting immediate right of Amit.
Sachin is Sitting between Ramesh and Amit.

How many students sit in the row?

Correct Option - 3

Seven1.
Eight2.
Nine3.
Ten4.
Eleven5.

Que. 84 Who sits fourth to the right of Priya? 

Correct Option - 1

Mahesh1.
Krishan2.
Ramesh3.
Amit4.
None5.

Que. 85 Who among the following sits sixth from the left of Krishan?

Correct Option - 5

Rajesh1.
Krishan2.
Mahesh3.
Bhargav4.
Sachin5.

Que. 86 Direction: In the question below are given three statements followed by two conclusions numbered I,
and II  .You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements



Some painters are scanner
Some scanners are mouse
No mouse is keyword
Conclusions
I. Some painter are mouse
II. No painter is mouse

Correct Option - 4

Only I follows1.
Only II follows2.
Both I and II follows3.
Either I or II follows4.
Neither I nor II follows5.

Que. 87 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All Cat is Dog
Only a few Dog is Deer
Some Deer is goat
Conclusions:
I. All goat is Dog
II. Some Deer is Cat

Correct Option - 4

Only I follow1.
Only II follow2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follows5.

Que. 88 Direction: In the question below are given two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only a few Hot is Cold.
All Freeze is Cold.
Conclusions:
I. All Hot can be Freeze.
II. Some Freeze is Cold.



Correct Option - 2

Only I follow1.
Only II follow2.
Both I and II follows3.
Either I or II follows4.
Neither I nor II follows5.

Que. 89 Directions: Read the following passage and choose the correct answer.
In a certain code, 

‘monday february year april’ is written as ‘bi gv oc st’
‘february may of july’ is written as ‘hm oc da pu’
‘of monday september wednesday’ is written as ‘nh mk hm gv’
‘july tuesday year of’ is written as ‘da st rx hm’

What is the code for 'july'?

Correct Option - 4

gv1.
oc2.
mk3.
da4.
None of these5.

Que. 90 What is the code for 'year of july'?

Correct Option - 5

bi hu hm1.
tm hm da2.
da gv oc3.
hu st pu4.
hm st da5.

Que. 91 What is the code for 'september'?

Correct Option - 5

nh 1.
pu2.
mk3.
None of these4.
Either option I or option III5.



Que. 92 How many pairs of letters are there in the word “CAPTURED” that have the same number of letters
between them in the word (in both forward and backward directions), as they have in the English

alphabetical series?

Correct Option - 5

One1.
Five2.
Four3.
Two4.
Three5.

Que. 93 Direction: Read the information given below and answer the question that follows.
There are eight members in a family – D, S, G, O, A, E, P and R. There are two married couples in this

family. A is the brother-in-law of E, who is the only son of S. O is the father-in-law of D, who is the only sister of
A. P is the niece of A. G is the maternal grandfather of R. E has only one son and one daughter.

How is S related to P?

Correct Option - 4

Uncle1.
Father2.
Grandfather3.
Grandmother4.
Can't be determined5.

Que. 94 How is A related to P?

Correct Option - 3

Mother1.
Father2.
Uncle3.
Aunt4.
Grandfather5.

Que. 95 How is A related to R?

Correct Option - 4

Mother1.
Father2.
Aunt3.
Uncle4.
Can't be determined5.



Que. 96 Following questions are based on the five four-digit numbers given below, Study the following
numbers and answer the following question:

243   874     923       456        721

If we arrange all the digits within the numbers in increasing order from left, then how many numbers remain
unchanged?

Correct Option - 1

One1.
None2.
 Three3.
 Two4.
More than three5.

Que. 97 If the first and the last digit are interchange in the given sequence then which of the following is the
lowest number?

Correct Option - 5

2431.
874 2.
9233.
4564.
7215.

Que. 98 If third digit of the highest number is divided by third digit of the lowest number then the resultant is?

Correct Option - 1

11.
22.
33.
44.
None of these5.

Que. 99 If the first digit of each is dropped and the second and the third digit are interchange with each other,
then which of the following will become the highest?

Correct Option - 4

243 1.
874  2.
9233.
456    4.
7215.



Que. 100 If we add all the digits within the given numbers then how many numbers thus formed are divisible
by 2?

Correct Option - 1

Two1.
One2.
Four3.
Three4.
None of these5.
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